
1. The sequence is created by adding the two previous numbers together to find the next number.

2. The name of this special number sequence is ‘The Fibonacci Sequence’.

3. This sequence is special because it can be found in nature – for example, how the spiral of a snail’s shell is formed.

4. The next ten numbers in the sequence are:

89, 144, 233, 377, 610, 987, 1597, 2584, 4181, 6765



1 + 1 + 2 + 3 + 5 =12

1 + 1 + 2 + 3 + 5 + 8 = 20

1 + 1 + 2 + 3 + 5 + 8 + 13 = 33

1 + 1 + 2 + 3 + 5 + 8 + 13 + 21 = 54 

Reasoning Sentence

I’ve noticed that the total of the numbers is 
always one less than the number which is in 

the sequence in two numbers time.
Therefore, I predict the sum of the first 9 

numbers will be 88 because this is one less 
than the 11th number: 89.



3 x 13 = 39
5 x 8 = 40

40 – 39 = 1

Reasoning Sentence

I’ve noticed that every time I complete this, the 
difference between the two products is always 

one.

13 x 55 = 715
21 x 34 = 714

715 - 714 = 1

You may have 
chosen 

different 
numbers but 

the difference 
should still be 

one.



21 x 55 = 1155 
34 x 34 =1156
1156 - 1155 = 1

Reasoning Sentence

I’ve noticed that every time I complete this, the difference 
between the two numbers is always one.

3 x 8 = 24
5 x 5 = 25
25 – 24 = 1


